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100 7§ 2] THeHA] x2

—x=1,x2=x=2, -+, x¥2=x-100 Zof|A A57}
el QRO BOZ QARelEL e BE E A9l

@ 571 @ 70 (@)9711 @1/ © 1A

@ —xon= (et a)x—b) (@ b AA%) e o}
b=a+1,ab=n(1<n<100)

a 12345 6 7 89

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




@ 3a* -27b* = 3(a + 3b)(a — 3b)
(@)64® - 125 = (4a + 5)(16a% - 20a + 25)

@ (2-x) (2-x+1)-6=(2-x+3)(x+1)(x-2)

® 2x* -5x+3=(x-1)(2x-3)

64a® — 125
= (4a)’ - (5)°
= (4a - 5) (16a* + 20a + 25)




3.

16a* — 250ab® 2] 147} obd Z-27

® a @ 2a-5b
® 2a(2a - 5b) @ 4a® + 10ab + 25b*
@Qa(Za + 5b)

(F4]) = 2a(8a® - 125b°)
— 24{(2a)? - (5b)?)
= 2a(2a — 5b)(4a® + 10ab + 25b%)




4.

02 5 22 +y% + 2xy - 2x — 2y O] QITFopd A2

@ x+y @ -x-y
@x—y ® 2x+2y

B

9

@ x+y-2

(FA) =+ 20+ - 2(x+)
=(x+y)?-2(x+y)

= (x+y)(x+y-2)

ShA,
x+»E+y-2)=-(-x-y)(x+y-2)

—(
%(2x+ 29)(x+y—2)




5. (x-3)(x-1)(x+2)(x+4)+24 5 ATESMSHH (x+a)(x+b) (x> +cx+d)
olth. a+b+c—d2 g& Fotofet

> E:

> He: 10

B

x2 +x=AZE AgolH
(x=3)(x-1)(x+2)(x+4)+24
={(x=-1D(x+2)H(x-3)(x+4)} + 24
=2 +x-2) (x> +x-12)+24

— (A-2)(A-12) + 24
—A2-14A +48 = (A—6)(A—8)

=2 +x-6)(x2+x-28)
=(x-2)(x+3)(x* +x-28)
fatbtc-d=-2+3+1-(-8) =10




6. (X2 +5x+4)(x2+5x+2)-24 5 AFESNHH (k2 +-ax+b) (¥ +cx+d)
da+b+c+ds FSHH?

@16 @ -16 ® 15 @ 18 ® 0

B \
(x% + 5x + 4) (x% + 5x + 2) — 24 °f|A]
x% + 5x = t 2 A gl
() =@+4)(t+2)-24
=12 +6t+8-24=1>+6t-16
= (t+8)(t-2)
ol W t = x% + 5x0|B2
(%% +5x+8)(x +5x-2)
~a=5b=8,¢c=5d=-2
at+b+c+d=5+8+5+(-2)=16




7. TR a2y 425y AR SEAEY (62 + may +5y%) (6 +
nxy +5%) 7k FIAEE. o) w4 mn o] & m+n 9] 2kE b

® -6 -3 @ @3 © 6

(FA]) = x* + 10x%? + 25y* — 9x%)?

= (2 +5%)" - (3xy)*

= (% + 5y” = 3xy) (+* + 55” + 3xy)
~m+n=0




X+ 18 AG7E A5 9] el A A58 T o, kg F 9154
PARSR

DO x2+x+1 @ x2-x+1 (@)x2+ V3x+1
@ x4+ V3x-1 ® x2-1

(EH) = ()7 +1
=+ -x2+1)
= (x* + 1){(x® + 1)% - 3x?}
= (x2 +1)(*% - V3x+ 1)(x®> + V3x+ 1)




TFHA 4 3xy + 2% - x-3y— 28 AAHA ] FOE A4HE AL
W, 7 A5E0] g Foha?

O x+2y+1 @ x+y-3 ® 2x+3y+2
@ x+y-2 @2x+3y—1

B ~

22 +3xy+2y°-x-3y-2
=2+ B3y -1)x+2%-3y-2
=x>+By-x+(-2)(2y+1)
=(x+y-2)(x+2y+1)




10.  2x% +xy-3y* +5x+5y+ 25 U520l SFH(x+ay+b)(2x+cy+d)
olty. ol W, a + b + ¢ +d 2 #= Totefzh

cCh "
| —

>
[> v L= S

oH- =

B ~

2x2 4+ xy — 3y? + 5x + 5y + 2
=2x2+ (y+5)x—3y2 + 5y + 2
=2x2+(y+5)x—(y-2)3y+1)
= {x—(y-2)}{2x + (3y + 1)}
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1




11, o2 3 2t —4x% - 7x% + 34x - 24 5 QI5ES] o192 o,

AL

@ x-1 @ x-2 ® x+3 @x+4

B

f(x) = x* — 4x® — 6% + 34x - 247} S}
f(1)=f(@2)=0022
f(x) Ex-1,x-2E Q1= 2=t}

Ex

HAHE ol EH F,

x? — 403 — T2 4 34x— 24
=(x-1)(x-2)(x*-x-12)
= (x—=1)(x—2)(x—4)(x+3)




A2

7} obd

2
na

1

12, T2 =4+ 2 - 1142 -9x+ 189 ¢

® x-3 @ x+3 ® x+2

@x+1

® x-1
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e
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® x+2

@ x+1

@()H— 1)2

@ (x-1)2

® x-1

ct.

T

__01_

ojo
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ZHAH

(x=1)2(x+1)(x+2)

-3 -1
Lo
a3 -3x2-x+2
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14.

The A1 QRS SH (x4 py) (x-+qy+)? Ok, o] T, p24g? 412
o @& Fstoler,

[ =3 4+ x%y — xy? + 2x2 — 2y? + x — )]

cCh "
=

| 2
> Heh: 3

B ~

x3_y3+x2y_xy2+2x2_2y2+x_y

= (-2 +xy+y) +w(x—y) +2(x+y)(x—y) +(x-)
= (x-E+y)?+2(x+y) + 1)

= (x-y)(x+y+1)?

p=-lq=1r=1

PP =3




15.

1

o2 JeEd

(x+1)(x+2)(x+3)(x+4) —k 7} o] 2H4] o] A F
2w, 4 kO] 72 st

@1 o1 ® 0 @ 2 ® -2

B

(x+D)(x+2)(x+3)(x+4)—k
=(x+1)(x+4)(x+2)(x+3)—k
=(x2+5x+4)(x2+5x+6) —k
x? 4 5x = X 2 g5
(FA) =(X+4)(X+6)-k
=X?+10X+24-k
SAAEA o] =2 24 —k = 25
k=-1




16, x'-6x+ 1< A2l SEAEY (x° +ax+b)(x? +cx+d) 7F = A,
ol W, g+ b+c+do FE FoHH?

@_2 @ 2 ® -1 @ 1 ® 4

B ‘

=622 +1 = (xf - 20 +1) - 4x?
= (x? = 1)% - (2x)?

= (@2 +2x-1)(x* -2x - 1)
:(x2+ax+b)(x2+cx+d)
Latbtctd=-2




17. o2 5 o034 P (b-c)+b3(c—a)+c3(a-b) 9 57t obd A-22

@ a-b @ b-c ® c-a
@ a+b+c @a—b—i—c

o171 48 a0l Bato] Bala
(F2)=a(b-c) —a(b® - ¢®) + be(b? - ¢?)
( a3 —a(b? + be + ¢?) + be(b + ¢)}
(b= c){b*(c - a) + b(c® - ca) — a(c? — a?)}
= (b-c)(c—a)(b* + bc — ac — a?)
(b=c)(c—a)le(b-a)+ (b* - a?)]
(b =)




